

Pasta



### About the company

Es Komerc d.o.o. was founded in 1992. Until 2000, it operated exclusively as a wholesale company. After 2000, it began developing a retail chain. Since 2012, the company has been investing in a new manufacturing plants.

We now own 25 retail facilities, a conventional and organic pasta production plant (manufacturing type of production), a frozen pizza and homemade pies production plant, a conventional and organic jams and juices production plant and 1300 t cold storage for deep-frozen fruit.

ABOUT THE COMPANY ILOVE THE GOODNESS OF PEOPLE

# Volim - Egg Pasta

#### ITALIAN TECHNOLOGY & OUR SKILLS

VoLim egg pasta is made from wheat semolina and eggs, with the necessary addition of water. It does not contain flavor enhancers, additives.

The pasta dries slowly in order to relax and digest it more easily. Also, slow drying significantly shortens the cooking time (3–5 minutes).

Slow dried pasta → reduced cooking time, easier digestion.

**Bronze-cut** → rougher pasta structure → sauce stays on top of the pasta, not at the bottom of the pan



PRODUCT NAME	EAN code	Pieces per box	Box per pallet	Total piece per pallet	Pallet weight (kg)	TMC (months)
<b>VOLIM -</b> EGG PASTA TAGLIERINI 350G	8606108926413	20	30	600	240	24
<b>VOLIM</b> – EGG PASTA TAGLIATELLA 350G	8606108926796	20	30	600	240	24
VOLIM - EGG PASTA MACARONI 350G	8606108926529	20	40	800	320	24
<b>VOLIM - EGG PASTA PIPE RIGATE 250G</b>	8606033420215	20	40	800	320	24
VOLIM - EGG PASTA CAPELLINI 250G	8606108926420	20	30	600	180	24

# Volim - Whole-Grain Pasta

#### BUCKWHEAT, SPELT AND RYE WHOLE GRAIN

VoLim whole-grain pasta is made from wheat semolina and whole grain buckwheat/spelt or rhy flour, with the necessary addition of water. It does not contain flavour enhancers, additives.

The pasta dries slowly in order to relax and digest it more easily. Also, slow drying significantly shortens the cooking time (3–5 minutes).

Slow dried pasta → reduced cooking time, easier digestion.

**Bronze-cut** → rougher pasta structure → sauce stays on top of the pasta, not at the bottom of the pan





PRODUCT NAME	EAN code	Pieces per box	<b>Box</b> per pallet	<b>Total piece</b> per pallet	Pallet weight (kg)	TMC (months)
<b>VOLIM</b> – BUCKWEATH PASTA – TAGLIATELLE 250G	8606108926260	20	48	960	288	24
<b>VOLIM</b> – BUCKWEATH PASTA – FUSILLI 250G	8606108926383	20	48	960	288	24
<b>VOLIM</b> - SPELT PASTA - TAGLIATELLE 250G	8606108926284	20	48	960	288	24
VOLIM - SPELT PASTA - FUSILLI 250G	8606108926390	20	48	960	288	24
<b>VOLIM</b> - RYE FLOUR PASTA - MACARONI 250G	8606108926543	20	48	960	288	24
<b>VOLIM</b> - RYE FLOUR PASTA - FUSILLI 250g	8606108926550	20	48	960	288	24

## Volim - Protein Pasta

#### HIGH PROTEIN VALUE

VoLim protein pasta is made from several types of flour with high protein value and wheat semolina, with the necessary addition of water. It does not contain flavour enhancers, additives.

The pasta dries slowly in order to relax and digest it more easily. Also, slow drying significantly shortens the cooking time (3–5 minutes).

Slow dried pasta → reduced cooking time, easier digestion.

**Bronze-cut** → rougher pasta structure → sauce stays on top of the pasta, not at the bottom of the pan



PRODUCT NAME	EAN code	<b>Pieces</b> per box	<b>Box</b> per pallet	Total piece per pallet	<b>Pallet</b> weight (kg)	TMC (months)
<b>VOLIM</b> - PROTEIN PASTA TAGLIATELLA 250 g	8606110958884	20	48	960	288	24
<b>VOLIM</b> - PROTEIN PASTA FUSSILI 250 g	8606110958242	20	48	960	288	24
<b>VOLIM</b> - PROTEIN PASTA MACARONI 250 g	8606110958099	20	48	960	288	24

### Quality management system

Es Komerc d.o.o. determines its quality direction and manages quality-related business activities following modern trends and market requirements. We guarantee our business partners and consumers that they receive top-quality products made through the production processes supported by quality standards Organic EU, Organic RS, IFS Food, BRC, Halal.



#### Contact:

ES Komerc d.o.o. Velika Zupa bb, Prijepolje, Serbia volim@eskomerc.com +381 64 856 0808 www.volim.rs





